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BESE-142 : LIFELONG LEARNING 

Time : 3 Hours     Maximum Marks : 100 

Note : Attempt all the three Sections. Sections A, B 

and C carry 40 marks, 48 marks and 12 

marks respectively. Questions under 

particular section carry equal marks. 

Attempt any two questions from Section A, 

any four from Section B and any two from 

Section C. 

Section—A 

Note : Answer any two of the following in about  

500 words each. 2×20=40 

1. Explain the concept and scope of lifelong 

learning. 
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2. How did social movements in India lead to 

development of lifelong learning ? 

3. Discuss the implications of global contexts for 

lifelong learning. 

4. Describe the components of structural reforms 

for promotion of lifelong learning. 

Section—B 

Note : Answer any four of the following in about 

250 words each. 4×12=48 

5. What is the difference between formal and non-

formal system of education ? 

6. Compare and contrast the features of industrial 

society and knowledge society. 

7. Discuss the status of ‘lifelong learning’ as an 

academic discipline. 

8. How is literacy related with dialogue, 

conscientisation and liberation ? 

9. What are the aspects of global interventions for 

lifelong learning ? 

10. Explain the nature of curriculum for lifelong 

learning. 

11. What is a learning context ? What are the 

broad contexts of learning ? 
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Section—C 

Note : Answer any two of the following in about  

125 words each. 2×6=12 

12. Explain the concept of life skills and their 

relationship to lifelong learning. 

13. How can poverty be tackled through lifelong 

learning ? 

14. What are the emerging needs of lifelong 

learning ? 

15. What are the key elements and outcomes of 

National Skills Qualifications Framework 

(NSQF) ? 
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